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O= = 60,0008 * 52 * 3652 109,500
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01 AtR22lH| 3,600 3,600 0
OXA Il 8 T2 29 LA
300,000 = 12&€ 3,600
303 ZA&2 106,582 54,800 51,782
01 ZAM2 106,582 54,800 51,782
oR+32d & 100,000& * 109 * 43 4,000
OYROIAE /AEESZ (22HIIE)
208,500& * 418 * 12& 102,582

_8_




SN ASPH E20
OhE 2| &

I FOIOHE 2)|& 1H2Y
chel DI BERAS (erel:®e)
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K dd T HwsZ
Off &K
e 2R 22,182 49,472 A27,290
Y ZE)E =X 10,700 29,250 18,550
201 Yer2y| 7,700 15,750 8,050
01 AtR2telt| 7,700 15,750 18,050
O7H HR2IN R0 3,000
OF=pJ 10,0008 * 505 * 23] 1,000
O=Al 10,0008 * 508 * 43 2,000
023 BIHALR ZAKE R
10,0009 * 1005 1,000
OLE HWoaa ML ASE 1,200
Ol Xt 250,0002! * 43 1,000
OE1=-1 50,0008 * 43| 200
OFQARABHEA R0 10,0008 * 505 500
OTHYREX S| 2,000,000%! 2,000
202 01l 3,000 3,500 A500
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01 e 16,000 24,000 8,000
OZESEA LDE(3EX 2I9E)
500,0002 * 2004 10,000
OTEZaHEA 28 ARE(HEN 2 195)
10,0008 * 54 * 128 6,000
307 QI2H0|H 18,000 14,400 3,600
05 PIZteIE2 18,000 14,400 3,600
OBZ3HTA B2l PEBH(LAASS)
00,0002 * 54 * 122 18,000
ML HFEA 17,100 38,116 £21,016
QM4 Bel s 14,530 32,400 ~17,870
ML B 3,470 12,860 A9,390
201 Yer2 ) 3,470 12,860 £9,390
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SN AETE ALD
I AL (4 A4
el ol 2oy 22
SN FB - S2A(3) - MEAY - BES dd T s
01l &4 o8
oaEE A4 7,213,516 7,213,516
HY2AHH (A4gR iy 288,128 0 288,128
QI 2 244,953 244,953
ol 24| 244,953 244,953
101 Q1 Z4H| 244,953 244,953
03 RIIHA%2Z 2 244,953 244,953
(OSSR 237,132
OdE(L 166,000
-194@ X 32,800,000& = 1H 32,800
A VAS PN 31,400,000& = 2% 62,800
-84 Xt 25,100,000& » 1% 25,100
-5E Xt 23,000,000& » 1% 23,000
-4A Xt 22,300,000 * 1 22,300
O=g 58,596
-t 4,320
- BH <Xt 40,0003 » 6% » 123 2,880
- EHlIS 20,000& * 69 * 12& 1,440
-gE 100,000& = 123 1,200
-AXt=E
30,400,000& / 365 * 5 » 69 2,499
-AE2Esg
15,6103 * 25A12+ = 128 + 69H 28,098
54 & opt2Es"
15,610& * 240A12t » 6% 22,479
OXtH&s = 1,736
-nsSstn 433,880 * 42| * 1Y 1,736
Og &SIt 900,000& = 22| » 6H 10,800
on =l 2,021
oxg= 90,000 * 6 540
o9 45,1002 » 69 271
Ootd gt 49,5003 * 69 297
O3t 12,100& * 64 73
ogst= 100,000& = 69H 600
OL IV EE=)] 40,0002 » 69 240
OEzE+3 E2T =& 3,300
Oz s8&dxel 5,000& » 60 * 6 1,800
O==oHCH= 5,000& » 50& * 64 1,500
O 4T XIZHl 500,000& * 54 2,500
Jl =&l 43,175 43,175
Jl=23| 43,175 43,175
201 LetEHH| 28,108 28,108
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He A (4YT ALD)
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K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
01 At22teldl 19,053 19,053
OJI2gR-dHEsZ | 10,053, 000& 10,053
OJ|=&Hl (S&hl) 9,000,000& 9,000
02 s394l 9,055 9,055
O8I gXl&2lbl 30,000& * 6& 180
oRERZ 8,875
OosJ|IH 1,750& * 3,500 6,125
OgdetH 2503 * 11,0001 2,750
202 (4 10,387 10,387
01 2| 10,387 10,387
OJl&=&Hl 10,387,000& 10,387
203 YR F=&H| 4,680 4,680
04 2EASIEYRF=AH| 4,680 4,680
©J|=H (302! Olat) 350,000& = 12& 4,200
Oz 5,000% * 8% * 128 480
N g ME st TADIgEY 4,852,229 4,852,229
= 12m0]2te ZAIAHEEZ HA 629,177 629,177
gE 2T E2HE 40,432 40,432
401 AlEHIZLL20H] 40,432 40,432
01 Al&H| 40,000 40,000
OEXI Dbl 40,000,000& 40,000
03 AlE=20HbI 432 432
O 24 20l 40,000,000& * 1.08% 432
s AE3]E T2IME 100,900 100,900
401 AlEHIZ 2] 100,900 100,900
01 Al&H| 100,000 100,000
O =& S AkHI 100,000,000& 100,000
03 Al =0HbI 900 900
OZ==Z A AIZZ0HHl  100,000,000& = 0.90% 900
2oS(AR3-I7SH)E2HE 58,790 58,790
401 AIEHIZ 20| 58,790 58,790
01 Al&HI 58,268 58,268
OE X I 58,000, 000& 58,000
OMiAH HE AExr3 268
OZEBI24E
58,000,000& * 0.0011 = 2422 128
OsII0ld=r5 70,000& = 22 X| 140
03 Al&=20HY] 522 522
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Zu: A LT

ol L E 1on0/0te] CAINE SR A (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OZ2Ma =& JIEHRUH]
58,000,00080  * 0.90% 522
SUS 2T(LR3-1003) T 2L 157,200 0 157,200
401 Al&HIL 20| 157,200 0 157,200
01 Al&| 156,120 0 156,120
OB A 150,000, 0002 150,000
O Al & 2 & 2 (L=80n, B=8n)
150,000,0002! * 4.08% 6,120
03 Al&SOHH| 1,080 0 1,080
O 2L F& JIEHRHYI
150,000,0002! * 0.72% 1,080
)l 2 HYEX 24 207,331 0 207,331
201 Yer2g| 876 0 876
01 At 22l 300 0 300
0452 ¥ AN 300,000 300
02 IT2YH| 576 0 576
OAL T ALEX FHIRKHI 576
OF K= AL 3,200,0002 * 3CH * 6% 576
401 AU 20| 206,455 0 206,455
01 Al&| 205,015 0 205,015
O+BHLAUHY G2 2E 242 3,175
OSJlolE+4+8 70,0008 * 10X 700
OB4+42 121,002 * 152X 1,815
OLFII+42 (W)
300,000,0008 * 0.0011 * 29422t 660
07 TREYSX 24 EXHUY
200,000,000 200,000
OTHAH BIS AT+ 1,840
OLHEII+42
200,000,000%! * 0.0011 * 247/ 2 440
OSJI0l@+42 70,0008 * 20Z X 1,400
03 Al& S CHY| 1,440 0 1,440
O HYEX 24 LY
200,000,000%! * 0.72% 1,440
PAYARE LBASS BAHAY 50,540 0 50,540
401 AEHI L2 50,540 0 50,540
01 Al&| 50,000 0 50,000
OB A 10,000,000 * 54 50,000
03 Al& S CH| 540 0 540
OBAZ=Z JIEFRCHEl  50,000,0008 * 1.08% 540
SRIIPAL HEXR 13,984 0 13,984
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SN HYRH AL
Ha: Ko Y

S DM S A8 ZAJIgtEY
o2 X 12m0(2te] SAIHEEZ JHE (el &)
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
201 LEH2HH| 11,944 0 11,944
01 AtE22/Hl 11,722 0 11,722
OgBt=2H| 11,722
OEAHECA ARE A2F 3,592
-SAE Xl (A4) 18,000& * 7&Kt « 128 1,512
-oI5J 2258 1,120
- 23 70,000& * 1CH * 63 420
- 2130 EX 100,000& = 7&HAt 700
-EX0ISHEEAE MEMN RO
402 « 2,00000 = 123 960
ONAEH 283 5,100
-HA= A EH 260,000 * 100 = 128 3,120
-ZEH Ed 165,000& = 201 * 6& 1,980
OEXNgEHE 2g5d & S)=x2 3,030
-SI0|d 2 70,000& » 102 X 700
Sz 233,000& + 102 X 2,330
02 23223l 222 0 222
OEXNOIESHEH 52 HHIH A2
2l 222
O& K= A 3,700,000& * 6% 222
202 O4H| 2,040 0 2,040
02 XN 2,040 0 2,040
OEXNSEHE ZARA U
170,000& = 1& « 128 2,040
£=Z 22 4,223,052 0 4,223,052
CREH & KRAEs 2,949,599 0 2,949,599
201 LEH2HH| 164,393 0 164,393
01 AtE22|H] 36,734 0 36,734
OE=Z2&Hl dHE A2 13,614
O==2H Byl 858 11,778
-E2H &XI(AM) 27,5008 = 58 « 12& 1,650
-E2H EXI(A0) 66,0008 * 32 * 128 2,376
ol = 48,0002 » 200 = 123 1,152
-EZ2HY23 55,000& * 1000 = 128 6,600
Odiol =gl 153,000& = 14 * 128 1,836
Oz &M= HMAH % <=2 JHl FX= 14,850
O=24D| 550,000& « 1CH = 15 8,250
og=Ext 440,000 « 1CH = 15 6,600
OBYXotAE Mot 2| =2
272,500& * 123 3,270
OL12 E2EX MEE 5,000,000& 5,000
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SN 4YTE AL
M NS oggds s TADgxd
&t E2 2 (el =3
SNBSS NRAY - B2 0 & 24 e HlE2
02 23223l 127,659 0 127,659
OsLZXelenel AR € 2==Al4 23,160
O&II2B 490,000& * 123 5,880
O&ol+=E 23 3,600% » 400& 128 17,280
Ootaez M2 Z23R3 7,836
OMIIR= 55,000& * 128 » 504 3,300
Ostes=s
(46,0003 = 128 * 7IHA) + (56,000 * 4,536
128 * 1)
OJIsEH AIR4A e 956
O==H 9563 * 204 » 50 956
OxZ2Y M=XHYE WFI H=4l 1,726
OREUH(HLSR)
1,7262 = 52 1002 * 204 1,726
OXSHXE JIHEH =X 2,811
ORsU(ER) 1,509& = 400 4 » 3 1,811
Og&™Il el 1,000,000& 1,000
O =2 & Hl &ZHl ==clhl 1,500
OuF2I, HEIl 8 500,000& = 35 1,500
O AN std2t B 89,670
odIIe3 7,200,000 * 128 86,400
O&J|gtdze|iids2 272,500 * 123 3,270
206 M=l 41,000 0 41,000
01 M=l 41,000 0 41,000
OXIEZESE XM 39,500
oxgldgsxas 231,000& = 504 11,550
OZMotAZ 14,000& * 1,000 14,000
OANHE 5,000& » 500% 2,500
OR¢H 23,000& * 150m 3,450
OZM(HA)2 45 16,000& * 500m’ 8,000
Okz=2+ NG 2= N 1,500
O3 AMRHHERIE 2| 35 1,500,000& 1,500
305 tial=ss 5,000 0 5,000
01 =S 5,000 0 5,000
OEZANLEE MEL= QIS Tlo tHat
2,500,000& * 23l 5,000
307 S12t01& 98,400 0 98,400
05 QIZtRAE = 98,400 0 98,400
OIISHARY (LI ABH)ZY At
200,000& = 123 2,400
OXGtE A
350,000 = 5JHA + 23] » 128 42,000




S AR HL
MM [ DEHLMS QAT TAD|BHEA
el &2 2g Ce ™)
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
O=ELZ Xg=Hel SR 244l (L=430m,B=15m
) 36,000
O & HAEAEH
1,000,000 * 20HA = 128& 24,000
OHE AMEE2E A 1,000,000 * 122 12,000
OStAET 2 MZT S22
1,500,000 * 128 18,000
401 Al&HI LY 2,640,806 2,640,806
01 Al&H] 2,632,058 2,632,058
OZ 2R BLAY AlAI& A
1,659,740,000& * 2.75% 45,643
0ANR T2EX BA2 150,000,000 150,000
OEZ Y TZAEE RIELAY
700,000,000 700,000
OFQT2H (M= S)EHIAF (L=56,000m)
150,000,000 150,000
OSRERI T2 (LYZHUP~HAER)E2HY
SI| ZAHL=1,400m,B=27m) 491,140,000 491,140
OMtMst=0ISR Y2 B S A X2 AHL=200m,B=2
m) 100,000,000 100,000
OHMZ(EAAMH~XE2DXH2)A1MA &2
SN 2T ZAH(L=580m,B=28m) 218,600,000 218,600
O=EHL4Z2(FHEY) 445 0009 * 152 X 6,675
OAFAE X< Jt3RI| ALY
70,000,000 * 11002 770,000
03 Al&2204Hl 8,748 8,748
OS2 XNE2 A&
2,429,740,0002 * 0.36% 8,748
WSS 22| AL 909,992 909,992
401 Al&HIZLLHY] 909,992 909,992
01 Al&H] 904,459 904,459
oOnEABHE2 AAIAL A
878,200,000 * 2.99% 26,259
OnNASKE 100,000,000 100,000
O2=N HUGHMICGE A 53,000,000 53,000
OM21e 23 A2 FUNARA
475,200,000 475,200
OMEn 2422 AHL=153m,8=8m)
250,000, 0002 250,000
03 Al&=2CHHI 5,533 5,533
S0yl 878,200,0002 * 0.63% 5,533
FoI=2 ALY 363,461 363,461
401 Al&HIZL LY 363,461 363,461
01 Al&H] 360,993 360,993
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SN 4YRE AL
& XS LS |8 TAIDIE
=Rl &2 2 AR
M- B2 o9 (3) - NRAY - B2 arou SEL= .
cTo=m IO T ° - (= S = &= O:H{ﬂ,% ==
OFU=J A A A& A I
342,700,000& * 3.39% 11,618
O=ZYds FAZ T2HM RIS AHL=430m,B=5m
) 28,000, 000& 28,000
OBTES AUBH THe L CRIMS)
= AH(L=450m,B=5m) 29,250,000& 29,250
OZPX 52 2T HH|3AHL=340m,B=2m)
41,000,000& 41,000
O%+Z2 (=N ~A2AMH2)EZZHI S AHL=4
20m, B=4m) 51,000,000& 51,000
Og92s MoIZBERE2 1A S2HHISAHL=2
50m, B=6m) 17,000,000& 17,000
O=2ds 163-5H X2 HIEH 223 AHL=110m,
H=2m) 40,000,000& 40,000
Oz3d=s 22981 X2 1A | = AH(L=250m
,B=6m) 45,000,000& 45,000
OYYS MaISO0IS 2 &2 HHI T AH(L=250n
,B=3m) 10,000,000& 10,000
ozFs2 222 & (L=100m,B=3n
) 15,000,000& 15,000
O2== 558X €& Ot & A S A
L=70m,B=3m) 20,000, 000& 20,000
OERSE 608Xl 2 1HL =2 FHISAHL=550
m,B=3m) 21,450,000& 21,450
0O2ss 30X 2 = EZE S AHL=160m,B=3
m) 25,000,000& 25,000
o= 6,675
OZAHEE 445,000& = 152Xl 6,675
03 Al 2 0HY| 2,468 2,468
OA &SI 342,700,000 * 0.72% 2,468
HES JZ2ed Y =S &35 1,603,657 1,603,657
2. 2ots KRA&L 1,076,110 1,076,110
otz - 2ots 2| 1,076,110 1,076,110
201 LBty 746,600 746,600
01 AbR22lH| 14,072 14,072
QJtes dI|8H dE=+ 14,072
O&ZE| 42,600% * 170042 7,242
Oitzs 6,830& * 1,000 6,830
02 23234l 732,528 732,528
Otz Bots 23 732,528
Ooizs 6,600 * 5,200 * 12& 411,840
OBots 5,240& * 5,100 » 12& 320,688
206 M=l 27,350 27,350
01 M=Hl 27,350 27,350

_46_




SA: AYDE AL
Hu: Y JIRBY U KB HE
2. oS

o9 Jl2.Hols ex e CERE
SN HB SR (BIH) - A - B S 0l &b S D=2
P EEEEE R 27.350
OUES & 20,6002 * 3007M 6. 180
OUESHAT] 18,3002 * 3007M 5,490
SorsmE | 73,5008 * 1007H 7,350
OzEm| 416,5002 * 207} 8,330
401 AAHI2 2] 302,160 0 302, 160
01 AZHl 300,000 0 300,000
ozEoS Ha 500,00021 * 50074 A 250,000
ol2HoS AlM 1,000,00020 * 5074 A 50.000
03 Al&=CHH] 2,160 0 2,160
ONZHOAE HAZE AlMLY]
300,000,0008 * 0.72% 2,160
D BAYH AIY 375,585 0 375,585
olzlolza S22 301,120 0 301,120
201 s ay| 8,075 0 8,075
01 AS22lh] 7075 0 7075
ONRIOIDY SOIAME OHEZ A
350,00020 * 13704 4,550
OBAUS FIIMY HY 2a2 2 505
o= 47,0002 * 27HA 1,269
o=as 8.0008 * 157744 1256
2 Zzeoy 1,000 0 1,000
OORIOI2A DR I ME2A
10,0002 * 10744 1,000
206 T2 H| 4,000 0 4.000
01 M2l 4,000 0 4.000
OASUMY 2 PAR A2 4,000
OAMES 4Z 2,008 * 2,000 4,000
305 HiAZE 3,000 0 3,000
01 HHa=2S 3,000 0 3,000
OZAL AMIGH WA 500,002 * 63 3,000
401 AAHI2 2] 286,045 0 286,045
01 A2l 284,000 0 284,000
OO0 ZE AMSHHIDANSS 9 35THA)
2.000,0008 * 3674 A 72.000
OORI0I2Y SISt TAH(SY 9 35T4)
3,000,008 * 3674 A 108,000
OORIO0ISO0IAL QHEAC U WM (A2l o 12
W) 8.000,0002 * 13744 104,000
03 A& 2,045 0 2,045
ozZAST 2 AL
284,000,002 * 0.72% 2,045
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SN YT AED
M YHe J2Ed ¥ =sN3 =HE
el S S AL (et =3
SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0fl &b
A2 R 2el & ANEES ZHISA 74,465 74,465
401 Al&HI LS OHYI 74,465 74,465
01 Al&H| 73,800 73,800
OAL3&3 ANE= HUISAM 41,000
ONa=L33 2 4004
1,000,000 * 4144 41,000
OAZE SIS A 32,800
ON=A3E 2 4000
800,000& * 41044 32,800
03 AIZ 204l 665 665
OAaZ&d RX&cl JEIRUYI
73,800,000& * 0.9% 665
24 & sXAIE 2el 151,962 151,962
5 2 66,741 66,741
201 Let2d| 880 880
01 AtS 22/l 880 880
OZHIEXZ (Jt=Z= 0lA!)
440,000& * 100 = 23 880
401 A EHIL 204 65,861 65,861
01 Al&HI 65,273 65,273
OUHTZ2H Itz FHIZAH2HZA)
7,500& « 8,703& 65,273
03 Al =204 588 588
OJtz2+ 22| A=l
65,273,000& = 0.9% 588
=XAd 22 85,221 85,221
101 Q14| 24,083 24,083
04 JIZHMIZ2XEE =+ 24,083 24,083
OZRAM(LS) 50,000 * 4H = 90 18,000
OM=S AZE2el(¥3)
35,120 » 2H = 50 3,512
OAsIEEZ 2,071
O=Z0dH=RE= 17,180,000& * 4.5% 774
OHL2EE2FE=a  17,180,000& * 2.665% 458
OFIIRYBEIREZ  458,000& * 6.55% 30
O EEE2RE= 17,180,000& * 3.4% 585
OLEEEERYES 17,180,000& = 1.3% 224
o=&x =l 500,000 * 1 500
201 Let2d| 4,097 4,097
02 =234l 4,097 4,097
OJZstH d+E27 50003 *« 4014 « 9F 180
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SR JtEe & SAAIE 2l (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O=XAI4E ZHI(HE 202) 2,837
OR&EH 1,726 * 440 = 1400 » 25¢ 2,417
(@ulFSEe== 5,000& = 0.2¢* 1404 » 302 420
O=XAIE Zdl=clHl(HelE 22)
70,0002 * 14CH 980
oxg%=3+1Y 100,000& 100
206 W24l 9,110 0 9,110
01 M=Hl 9,110 0 9,110
OJt2stH 2tel Xt 1,610
©):1)=4 7,000& = 501 350
Og 2Nl 8,400% » 7598 » 28 1,260
OJIZStE OHMSIEA (2R 8)
1,500& = 5,000 7,500
401 AIEHIZ 208 47,931 0 47,931
01 Al&H 47,418 0 47,418
OZ2 FHISAH(AstZ Sl 32044 )
1,000& = 47,418m 47,418
03 A2 204HI 513 0 513
O=XA&2zel JE 20yl
47,418,000& = 1.08% 513
=MTAIE 98 AR S 24,593 0 24,503
MEANE 54 & 25 24,593 0 24,593
A= 02 17,075 0 17,075
201 Y2y 14,675 0 14,675
01 Ab22t2lH 10,950 0 10,950
Ot 222 MA 7,500
OttExy AR 58 15,0003 * 5000H 7,500
OMELANUBZE 28 S|
5,000& = 2& » 120 1,200
O4t2x5tela orM & H| (I =HI) 2,250
Ogst= 100,000& = 15 1,500
Oerd st 50,000& * 15 750
02 E524gH| 3,725 0 3,725
OMEUHE RE= =2 560
O&IIEMN==Z 70,0003 « 8CH 560
OL=2 XY 22 AEEHl =AU 1,720
ORdSaEHI 450,000% * 40CH » 4% 720
OM=EHI =Al 1,000,000& = 1CH 1,000
OMELINUNM2R(AZH) 1,445
OISR (RER)
1,7263 = 54 = 50 » 302 1,295
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01 HZHl 2,400 0 2,400
oFslE f&J] Hidal 80,000& * 30CH 2,400
MEXZE & ESAME 7,518 0 7,518
201 ety 3,518 0 3,518
02 =323l 3,518 0 3,518
O=&H I A=l 3,018
OssU(dER) 1,509& * 404 = 50 3,018
OsLNII =Xl 500,000 * 14 500
206 M= Hl 4,000 0 4,000
01 =4l 4,000 0 4,000
O == UM 2,000& * 2,000 4,000
e - Mool M=zsh s 444,909 0 444,909
Tt - THOH Ol A 247,621 0 247,621
Mt 2 THoH 22l 247,621 0 247,621
201 LEr23| 101,062 0 101,062
01 AtR22|H| 78,150 0 78,150
OS2 SEASHA 22X S
5,000& * 4% » 120 2,400
Os&E)| H&Zd dx=z 74,250
Og=Zxt 440,000 * 500 * 25¢ 55,000
O=4| 550,000 = 1CH = 25 13,750
Oatn3ag el 550,000 « 1CH = 10 5,500
OTHGHCH 2 B A2 2T =&
5,000& * 309 = 108/ 1,500
02 =323l 22,912 0 22,912
O4doii Al ==&l 9,000
Oub| KX 3,000,000 * 1CH 3,000
ON&E=Z Pefam)| 22l
2,000,000& = 3CH 6,000
0332= < AMA 7,440
Ox=RANMESEX HEIIH MER
20,000& = 12& 240
OEZHE tigs &3
1,080,000& * 5& 5,400
OFEs HEBZAE IS
150,000& * 123 1,800
OH = dl 6,472
ON&EE 2damI 22U
1,618 * 1604 » 25¢! 6,472
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SN AYTE A&

M T - Wohol MZa e

el THY - THGH Ol AN (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
206 M=l 146,559 0 146,559
01 M=H| 146,559 0 146,559
O=olith X E Xt 11,159
O&#+4d =20t 5,000&  1,5000H 7,500
OP.PZCH 287 * 7,0000H 2,009
oYL 43 1,650,000& 1,650
SoitHE XM 135,400
oL s 374,000& * 200& 74,800
L3 140,000& = 400& 56,000
O2¢cH 23,000& * 200m’ 4,600
ofd - Hi=AlE JH& 197,288 197,288
otd SAlZel 52,580 52,580
202 O4Hl 2,040 2,040
02 EAHNYI 2,040 2,040
ostaEL Y o
170,000& = 1& * 128 2,040
401 Al&HIZL=ROHYI 50,540 50,540
01 Al&H| 50,000 50,000
OotA X 22| At (L=28.9km) 50,000,000& 50,000
03 AIE=20iHl 540 540
OdtE S X 22IAY AlE S|
50,000,000& * 1.08% 540
Bi=Ald &Edl 2 SX2cl 144,708 144,708
201 et 9,450 9,450
01 AtS 22/l 9,450 9,450
O399 2 MHEM ELHUXZ 8,250
O2471(0.7m") 550,000& = 15& 8,250
ONM=xZE 0lFJl =X
1,6002 » 52 = 504 » 30 1,200
401 Al&HI YL SO 135,258 135,258
01 Al&H| 134,088 134,088
Odt=Helel 7Y otxE BA (1001 L)
50,000,000& 50,000
O s222-1HXF=H dt== AUl S AHD=600m
,L=200m) 400,000& * 200m 80,000
OLlg=222-1H X =8 ol ZUISAL Al
HAHES 80,000,000& * 5.11% 4,088
03 AIE=20bl 1,170 1,170
Oodt=E EXSA AIZRHHI
130,000,000& = 0.90% 1,170
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el 2 XE o (ol @2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O &F 24 Sl ko HRs2
OZelate 70,000& * 504 350
OLANIS BHIY UNE 1,270
OXIAH Xt 275,000& = 104 = 2¢ 550
Ot xE 360,0002 * 104 * 22 720
02 323l 1,000 1,000 0
OHEZRE 24 X=t| 500,000& * 29 1,000
202 O4Hl 8,160 10,000 21,840
02 EAHNYI 8,160 8,160 0
OLHY U TARIES HER AU
170,000& * 4H « 1228 8,160
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